Whitman College 
Econ 308 
Exam 2 
October 25, 1999 


Write all answers in your blue book. Show all of your work. 




1. (15pts) Suppose that the labor force is fixed at 100 million people, of which 95 million are currently employed. Suppose that the monthly rate of job separation s=0.02, and the monthly rate of job finding f=0.21. When this economy is operating at the natural rate of unemployment, how many people will lose a job in a month? 


2. (15pts) According to Gregory Mankiw in Macroeconomics, both the U.S. and Western Europe have seen falling demand for unskilled labor. In the U.S. this falling demand has resulted in falling wages for the unskilled, producing a large discrepancy between the income of the skilled and unskilled. However, unemployment rates in the U.S. are quite low. In a Western European country like Germany, falling demand for unskilled labor has resulted in high unemployment but a small discrepancy between the income of the skilled and unskilled. What, according to Mankiw, caused these differences between the U.S. and Germany? Explain. 


3. Suppose that you know the following about a hypothetical economy. The economy's production function is Y = AK L 1-, where A=1 always, and =0.5 always. In 1998, K=100 and L=400. In 1999, K=102 and L=412. In 1998 the money supply was 1000. In 1999 the money supply was 1060. Money changes hands on average 10 times per year in order to purchase the Gross Domestic Product. The nominal interest rate on a one year loan in 1998 was 7.2%. The nominal interest rate on a one year loan in 1999 was 7.7%. 

(a) (25pts) If the Classical Quantity Theory holds, what was the inflation rate between 1998 and 1999? 

(b) (10pts) Assuming again that the Classical Quantity Theory holds, what was the real interest rate on a one year loan made in 1998? 


4. (15pts) List and briefly describe the Federal Reserve's monetary policy tools. 


5. Suppose a country runs a trade deficit with the rest of the world. 

(a) (10pts) Starting with the national income accounts identity of 
Y = C + I + G + Exports - Imports, 
show that in this country the sum of private and public savings is less than investment. 

(b) (5pts) Define investment. 
(c) (5pts) Where does the savings come from to finance this country's investment?
